HNG.4050.AZ

50

$6.5 Max

EHACO®

Technical connection and more

- Max. open position

6.4

Rotation 2

|
\. ]
¢ | % . a
| o]
— =
s [T o
I <= | — I
g < |
g i Max. closed position
—— 1
_] VanY /
! \J/
h
[
2‘4
40

Ref Part description Material - Finishing
1 | Flange, thickness 1,0 mm (2) Fe360 - White zinc Cr6 free
2 | Riveted pin Steel - White zinc Cr6 free
HNG.2650.AZ

50

3.8 Max
) \
> S
1
& |
. oo
o © J_ =
= AT -
R A L¢
® -‘- N
|-
J8"5,
26

Max. open position

Rotation 2

Max. closed position

Ref Part description Material - Finishing
1 | Flange, thickness 0,8 mm (2) Fe360 - White zinc Cr6 free
2 | Riveted pin Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.6335.AZ

$5.3 Max

Max. open position

Rotation 2

5.3

BN
)N
o . | -
|
I
| |
7

& O x
19 &
u - T
. i Max. closed position
©
A
= |—1}
— ﬁ 1
N
< |
he e
Tt
O
,2‘0,
35
Ref Part description Material - Finishing
1 | Flange, thickness 1,0 mm (2) Fe360 - White zinc Cr6 free
2 | Riveted pin Steel - White zinc Cr6 free
HNG.4520.*
Installation example
,,,,,, =] ]
AL - 8
‘ A= A
Rotation
12 12
= |
= e o
2 = ~
TOF |
Mm_-1_ ‘ o~ 0
\ w0 ‘ o <
|- =1 L 10
17
96.5 7] ‘47 Lg
Insert * material “code” into hinge part number
Ref Part description Material - Finishing (AC) Material - Finishing (BK)
1 |Base Zinc alloy - Bright chrome Zinc alloy - Epoxy black
2 | Rotating flange Zinc alloy - Bright chrome Zinc alloy - Epoxy black
3 | Grommet (2) Poliammide Poliammide
4 | Rotation pin AISI 303 AISI 303

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at




HNG.0334.AZ

Installation example

49

(33)
Y]
i

<

[l |
I
I |
I
;WL* 7!
R
=
I
| jl .

Il
Il |
I
}!ﬁg’*
T
=
T
L

>16 _L_

Rotation

10,

M8

N
)]

16

M8

EHACO®

Technical connection and more

16.5

)
\

16.5

]

ﬁ>| ]
J

Ref

Part description

Material - Finishing

Exagonal nut M8

1 | Flange with stud M8X14 Steel - White zinc Cr6 free
2 | Flange with stud M8X20 Steel - White zinc Cr6 free
3 | Rotation pin Stainless steel

4 | Spacer Stainless steel

5 | Washer M8 Steel - White zinc Cr6 free
6

Steel - White zinc Cr6 free

n © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at

7
A

N



EHACO®

Technical connection and more

HNG.206.3

22.7
14.7 45.5
B ~
€ o
- A 2 g
fee]
EI [
& - o o
16 y =
-
2 30
Ref Part description Material - Finishing
1 | Hinge Steel - Bright chrome
2 | Stud Steel - White zinc Cr6 free
HNG.206.4
————
8 e
| < 7 e i1 | w3 [ 773
o] &= il i | il
L n | i il

L] =7
12.F 21.5
31.5
Ref Part description Material - Finishing
1 | Hinge Zinc alloy - Epoxy black
2 | Stud Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

HNG.097MP.*

Technical connection and more

Fixing hole size
14£05

20403 =
18 Sp.1.5:2
Rotation rj 30
2 | = ]‘2 =
0
1 2 1807 o i =f=
1
g | =i _ / < ~| m_v" ©
A ‘\; | 1 [Te}
T o~
A
45 With gasket
Insert * material “code” into hinge part number
Ref Part description Material - Finishing (AC) Material - Finishing (BK)
1 | Fixing stud Steel 4.8 - White zinc Cr6 free Steel 4.8 - White zinc Cr6 free
2 | Screw Steel 4.8 - White zinc Cr6 free Steel 4.8 - White zinc Cr6 free
3 |Base Zinc alloy - Bright chrome Zinc alloy - Epoxy black
4 | Bracket Zinc alloy - Bright chrome Zinc alloy - Epoxy black
HNG.212.*
A 20
}3 [le] 38
— [
wl <L U ’\m 0
o = 1 L=
- | ﬁij %; ™ o = -
3 Fi ‘\ L lx kT Ll
2 ¥ ]
2-@6.2 e/ N 2.012
Ts ||F 2 25
- & 42
Plastic stud on request
L
18 =3 13
w
8 [
78 | PNOD2
5T| P 1
Fixing hole size T o
Hinge part number Ts A Ref Part description Material - Finishing
HNG.212.1 2 51 1 | Hinge Zinc alloy - Epoxy black
HNG.212.2 3 6,1 2 | Stud Steel - Nickel plated
HNG.212.3 1,5 4,6

n © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



HNG.205.1*

EHACO®

Technical connection and more

golL

&
A =
& 135 1B 2-M10
w
G |
o — ;
L J
>
T 16 |7
3]
26.5|| |V
o 25
22.5 50
35 -
Hinge part number Type Material - Finishing
HNG.205.1Z Left Zinc alloy - Epoxy black
HNG.205.1Y Right Zinc alloy - Epoxy black
HNG.205.2*
20
A R4 °
fdb |
w‘ 11 5
ol anu|l N/ F
gy |\ = —1 v
I C 95,
U i [ 1]
3 @55 || gs.9
12.5 ‘ 25
20 40
2-@10.2
5
o
Hinge part number Type Material - Finishing
HNG.205.2Z Left Zinc alloy - Epoxy black
HNG.205.2Y Right Zinc alloy - Epoxy black

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at n



EHACO®

Technical connection and more

HNG.212.3B.*
19.5
ﬁ NJ A 248 _
¢ -, < = :
j - E
(o] 4
w y d : ‘_L I I_I I 1
~ 20 o T 08
30
2-26.2 Ll
1
| L0 \ [ 1 i (%]
=t | = : o0
LJ Fixing hole size
‘ door
Hinge part number Ts A Ref Part description Material - Finishing
HNG.212.3B.1 1,5 4,6 1 | Hinge Zinc alloy - Epoxy black
HNG.212.3B.2 3 6,1 2 | Stud Steel - Nickel plated
HNG.212.3B.3 2 51
HNG.213.2
50 32
L18xs8 22
~rr—r Vite M8
011 _—
- N
25 o 3 ﬁ : A"
25 ® . H 8
T — N\ © )
CIgx8 < 20 M6 screw
AT 32
Door
Installation example ~ thickness
Ref Part description Material - Finishing
1 |Hinge Zinc alloy - Bright chrome
2 | Stud Steel - White zinc Cr6 free

n © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.218.9119.BP

$6.4 $6.4

Rotation
5‘0
Ref Part description Material - Finishing
1 | Rotation pin AISI303
2 |Flange (2) AISI304 - Polished
HNG.203.3*
4-M5
P
m T ﬁ B rib P
i Sl -\[\]l/-
: % il % % T
fan) iy ) ;IAE
R in Tt L il \r
3510.1
50
HNG.203.3Y HNG.203.3Z
Te l' S ‘]_P' ™ %
~ o )

Hinge part number Rotation Ref Part description Material - Finishing
HNG.203.3Z Left 1 | Hinge Zinc alloy - Grey chrome
HNG.203.3Y Right 2 | Stud Steel - White zinc Cr6 free

3 | Washer Nylon

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.203.1*

6.5
~
)

Tt

19

51
|
64
S ST
N/ IC NS
I

- 4-M5 /|
HNG.203.1Y HNG.203.1Z
L RYa R =
~ =) ' W
o — -

Hinge part number Rotation Ref Part description Material - Finishing
HNG.203.1Z Left 1 | Hinge Zinc alloy - Grey chrome
HNG.203.1Y Right 2 | Stud Steel - White zinc Cr6 free

3 | Washer Nylon
HNG.203.4*
.4 9.4
2 4-M4
|| & @ || &
(=] a3
ey
o 1O || © @ || &
oy o3
- R - L
20.5
HNG.203.4Y HNG.203.4Z
20.7
9.4 91_4
ﬂ 2
: |
180

Hinge part number Rotation Ref Part description Material - Finishing
HNG.203.4Z Left 1 | Hinge Zinc alloy - Epoxy black
HNG.203.4Y Right 2 | Stud Steel - White zinc Cr6 free

3 | Washer Nylon

n © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

HNG.203.2

Technical connection and more

19

64

19 _13.5
<]

51.6

17.5

>10

100

17.5
10

'd N
=

Ref

Part description

Material - Finishing

Hinge

Zinc alloy - Epoxy black

HNG.299

Ref

Part description

Material - Finishing

Hinge

Zinc alloy - Bright chrome

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at




HNG.240."

© Standard version - Moq of 1.000 pcs. required

for non standard version

a7

64 9
[ ]
; -
21 29 3-@5.2
02 B10X90
HNG.240.1
I -
9005
Threaded stud
12

EHACO®

Technical connection and more

2-34.2
@rxen 62
- 'l
| 12 | u 12-1'35‘.2
70 @10X90
HNG.240.2

7045

Knurled stud

a7

HhsidIE

" ||.s.8

P

Hinge part number Stud type Ref Part description Material - Finishing
HNG.240.1 © Knurled 1 | Hinge Alluminum - Epoxy black
HNG.240.1D Threaded 2 | Stud Steel - Nickel plated
HNG.240.2 © Knurled
HNG.240.2D Threaded
HNG.251

5.7
o T :$:
w o —Fh—
o il | ®
) Qe 3
o5 [

% 82
100
17
Ref Part description Material - Finishing
1 | Hinge Zinc alloy - Bright chrome
2 | Stud Stainless steel
3 | Cover Stainless steel

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

HNG.219."

Technical connection and more

G K
4-C ] ‘%
7N I 7 (7] 3
& J »j
Al o —
@A 17 =
< [P AN N
—
E H
F
2 22 i AlB|C|D|E|F|G|H|J|KI|L|M Material - Finishing
number
HNG.219.1 8 | 20 |M5| 35|45 | 60 | 50 | 18 | @8 | 11 | 14 | 18 | Zinc alloy - Epoxy black
HNG.219.1R 8 | 20 |M5 | 35| 45 | 60 | 50 | 18 | @8 | 11 | 14 | 18 | Zinc alloy - Epoxy black
HNG.219.2 4 |13 [M4| 22 22 30| 22|13 |@5| 8 | 10 | 9 | Zincalloy - Epoxy black
HNG.219.2R 4 |13 M4 | 22 | 22 30| 22 |13 |@5| 8 | 10 | 9 | Zincalloy - Epoxy black
HNG.219.3 4 [185| M4 [275) 22 | 30 | 22 | 13 |@5| 8 | 10 |14,5| Zincalloy - Epoxy black
HNG.295

@5
[Ty
(Te el
e‘i|§ 1S
24 24 | w
wii
64
20 . 20
@6.5
/7
Y
<+ o LE s @13.5
0w <

Ref Part description Material - Finishing
1 | Hinge Black plastic
2 | Stud Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.4040.*
40
12.5 12.5
N
1 |\§/
¥ K |
) o) /\
) | %
/ ‘ * \ Rotation {270 -5
1 84 1 N
$5.2 9
| : § LL‘ o—»’
Insert * material “code” into hinge part number
Ref Part description Material - Finishing (AC) | Material - Finishing (BK) | Material - Finishing (BP)
1 |Flange (2) Zinc alloy - Bright Zinc alloy - Black AlSI304
chrome powder coated
HNG.4040P.BK
40
12.5 12.5
|
2 & | | Rotation
.
miiin ;
N\
M5 3 ( h

i

2
:' Y .
}

S

Ref Part description Material - Finishing
1 | Flange with M6 stud (2) Zinc alloy - Black powder coated
2 | Rotation pin AISI303
3 | M6 threaded stud AlSI304

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.5050.*

Rotation

Insert * material “code” into hinge part number

Ref Part description Material - Finishing (AC) | Material - Finishing (BK) | Material - Finishing (BP)
1 |Flange (2) Zinc alloy - Bright Zinc alloy - Black powder AlISI304
chrome coated
HNG.5050P.*
30
15 15
?6

T %
Rotation
o o
1/ \s
M6
© L\ I T I ) o
Insert * material “code” into hinge part number
Ref Part description Material - Finishing (AC) Material - Finishing (BK)
1 | Flange with M6 stud (2) Zinc alloy - Bright chrome Zinc alloy - Black powder coated
2 | Rotation pin AISI303 AISI303
3 | M6 threaded stud AISI304 AISI304

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at




EHACO®

HNG.6060.*

Insert * material “code” into hinge part number

Technical connection and more

60
18 18
A @y
N N
© = /\ | Rotation/\
N . |
1/ | 1
6.5 2
o QOFNAY 0 ) o
Y/ pan

Ref Part description Material - Finishing (AC) Material - Finishing (BK
1 | Flange (2) Zinc alloy - Bright chrome Zinc alloy - Black powder coated
2 | Rotation pin AISI303 AISI303
HNG.6464."
64
20 20
\
3 <
| ‘ Rotation
N SR ¢
pal | N oY
1/ 1
ws_ be
[ N
o | L) 0
@ T
$6

Insert * material “code” into hinge part number

Ref Part description Material - Finishing (AC) Material - Finishing (BK
1 |Flange (2) Zinc alloy - Bright chrome Zinc alloy - Black powder coated
2 | Rotation pin AISI303 AISI303

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.214.*
76
56
4-M6
@& my
= | =
L _J' =S
Fra | A
QOO
13
| I 'g‘} | w Py
'8 5§
_ﬂ] 6.1
2
HNG.214.1 HNG.214.2
Hinge part number Type Ref Part description Material - Finishing
HNG.214.1 Threaded studs 1 |Hinge Zinc alloy - Epoxy black
HNG.214.2 Holes 2 | Stud Steel - Epoxy black
HNG.272
3 25
g RB 4'@4.5
r [Te A A
e WAL/ TR w -.c: J T % :
L
? i
u 18 | 18 [\M4 0
-
T raint
T S pY
12.512.5 - d
7.5
@3 = 12.5
N Fixing hole size
e
; =t
4-34.4 f
Ref Part description Material - Finishing
1 | Hinge Black plastic
2 | Stud Black plastic
3 | Screws and nuts Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at




EHA-C®

Technical connection and more

HNG.42100." HINGE WITH FRICTIONED ROTATION

Rotation
TMax. open position
© - ~
°’3 [ ‘JM 7 I~
S \
\
1 | 2
\
\
. |
Max. closed position |
.
|
#
42 100
K — L Nr.4 10 L -
M T
O — 10
o N =
T T L | N> S i
I A S
‘ i 45
30 38 3

Insert * material “code” into hinge part number

1 | Short flange Fe360 - White zinc Cr6 free Fe360 - White zinc Cr6 free
2 |Long flange Fe360 - White zinc Cr6 free Fe360 - White zinc Cr6 free
3 | Stud AISI304 AISI304

4 | Grommet (2) Poliammide Poliammide

n © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHA-C®

Technical connection and more

HNG.30105.*

Rotation
Wax open position

el ~
- T & T T l T ] < -
I ‘ I I } I
i
1 } ‘ 2
B
Max. closed position } }
||
|
||
||
|
L
30 105
\(ﬁ3
-
N \‘ . Nr4 965
O | |
—
15 .
I I ‘ o
A3t & Ot 3
! __J
L L 60
22 35

Insert * material “code” into hinge part number

1 | Short flange Fe360 - White zinc Cr6 free AISI304 - Polished
2 |Long flange Fe360 - White zinc Cr6 free AlSI304 - Polished
3 | Stud AISI304 AISI304

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHA-C®

Technical connection and more

HNG.21480.*

Rotation
Max. open position

e
~ [se)
@Kr [ 1 ] ]
1/ ¥
Max
122
60 52 27 50
N M M
W & \
P
/ { &
ol ol [ M | ] ol o o
ol Oy NV { 1 ¥ © ©
| \
|
i
\ l

| |
an fan) 1
P ¥ d
\ B
x N7 7
Insert * material “code” into hinge part number

1 | Long flange Fe360 - White zinc Cr6 free AISI304 - Polished
2 | Short flange Fe360 - White zinc Cr6 free AISI304 - Polished
3 | Stud AISI304 AISI304

H © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.7050S.AZ HINGE WITH FRICTIONED ROTATION

F%
[ ]

90°

>

6.5
3.5

N4 ¢6.5

35 35
21 21
)
Y/
CImke
(70)

C30 - White zinc Cr6 free

| =
N/ L

270°

Rotation

1 | Central flange

2 | Side flange C30 - White zinc Cr6 free
3 | Self greasing grommet Bronze/PTFE

4 | Rotation pin C45 8.8 grade

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at




EHA-C®

Technical connection and more

HNG.50105.AZ HINGE WITH FRICTIONED ROTATION

23 b
I 4Tl ©
=
Ny " 2 |
3
Rotation
(2707

913 2
90’
o 1 N / |
‘_LE N N ‘/(T> ~T77
5.?‘ - 1/ | N5 96.5
35 70
21 21 39
)
ol 1 ©
oo ()
O ™[N Qy
| 48
(105)

Central flange

C30 - White zinc Cr6 free

1

2 | Side flange C30 - White zinc Cr6 free
3 | Self greasing grommet Bronze/PTFE

4 | Rotation pin C45 8.8 grade

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.7083.*

70
; 48 .
(I A~
igl
L U = A1
o A o
HE::Z{}Z:E
8 T T
NanEAS _ = alE
] o |

38
74

Max. open position 1

JRE B I
E_J.'_‘r___‘T_T____ 7

Max. closed position

Insert * material “code” into hinge part number
AlSI304 - Polished AISI304 - Black enamel coated

1 | Stud
AISI304 - Black enamel coated

2 | Fix flange AISI304 - Polished
3 | Rotating flange AISI304 - Polished AISI304 - Black enamel coated

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



HNG.6059.*

EHA-C®

Technical connection and more

60

j
|~ Rotation

22

N4 96.5

4694

Insert * material “code” into hinge part number

1 | Right flange

Fe360 - White zinc Cr6 free

AlSI304 - Polished

2 | Left falnge

Fe360 - White zinc Cr6 free

AlSI304 - Polished

3 | Stud

AlSI304

AlSI304

HNG.250."

7N ) 7N ’
w
PLI3% L9
. i 1 3 o™
o
32.5 38.5
6.3 6.3
(£ ¥,
o (M=o
Ury mubl \o—wr
I.f:! w3
o 8 - ol B
PH—w (PH—w
1w =
III @5 a5
HNG.250.3 HNG.250.4
HNG.250.3 1 | Hinge Steel - White zinc Cr6 free
HNG.250.4

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.275.1
70 25
60 2-355 L4 12
' @9.5X90°

2\«

A
[
w
W
Fo—
2
7
-

w

.
—
—

28

>4

22
11.5
L~ 2 -~
7S
b >
13|

|
Ref Part description Material - Finishing
1 | Hinge Steel - White zinc Cr6 free

HNG.275.2

59 17

>4.5
2-910.5X90° grus
> £
7 9 = hil EE
2-@5.5 N ml ) |
53
L2
67
17 _ 11
>4.5 - ﬁ_
\'{'\
1 : o] ©
I~ =
3 -.-.|:1 N . ks
al |22
Ref Part description Material - Finishing
1 | Hinge Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at




HNG.7002.AZ

45
20

M4

EHACO®

Technical connection and more

36
60

66 Max

Ref Part description Material - Finishing
1 | Stud Steel 4.8 grade - White zinc Cr6 free
2 | Rotating flange DCO03 - White zinc Cr6 free
3 | Fix flange DCO03 - White zinc Cr6 free
HNG.268.*

. 126
Telaio g _R2.7
o o
. -
& 2-35.4
& | 4
L 48
67.8
79.8
100.3
Hinge part number H Material - Finishing
HNG.268.1 23,9 Steel - White zinc Cr6 free
HNG.268.2 20,5 Steel - White zinc Cr6 free
HNG.268.3 17,5 Steel - White zinc Cr6 free
HNG.268.1A 23,9 Stainless steel (min. 500 pcs.)
HNG.268.2A 20,5 Stainless steel (min. 500 pcs.)
HNG.268.3A 17,5 Stainless steel (min. 500 pcs.)

E © by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.208

30

6.6

|
™
e
|
19
14
1
/0D
15

©
™~
A N
30 T 1.5
°0@l 20

Door hole il

Installation example

Ref Part description Material - Finishing
1 | Hinge Zinc alloy - Bright chrome
HNG.225.3*

< —
. w 12.5
b [
L uy
ey I""-‘
= -
2
Hinge part number Rotation Ref Part description Material - Finishing
HNG.225.3Y Right 1 |Hinge Steel - White zinc Cr6 free
HNG.225.3Z Left

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

Technical connection and more

HNG.11DX.AZ | HNG.11SX.AZ

Right version (DX) Left version (SX)
12 12
7.9 7.9

I
14.6

o

26 Max
Bz
26 Max
14.6
A4 ﬁTT
NS
G EN

> | b b | ¢
[ee} [se}
5 , 33 g 3 \ =
936 ;_,’L ;_,’L $3.6
L e e |
»u 6.2 6.2 .
- [JZ_L Preloaded spring 1 Kg. 42/
(— — )
Ref Part description Material - Finishing
1 |Stud C10 - White zinc Cr6 free
2 | Flange DX/SX DCO083 - White zinc Cr6 free
3 | Ring DIN6799 Standard
4 | Spring C72 - White zinc Cr6 free
HNG.263
52 60
] 30
o O
[Ty]
e | =]
- 7 gg w0
& o
L
") |
[=2]
17 =
A =
ss=== " 1 =Zcol g
[ I R o o
| 1y
132 ™
Ref Part description Material - Finishing
1 | Hinge Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at



EHACO®

HNG.248

Technical connection and more

oo, 225 0 S
- I _\.;P'?v,vemmg R bt gy =
O ' F 0
S | of 20
Tetaio 4] A 26
60

Ref

Part description

Material - Finishing

Hinge

Steel - White zinc Cr6 free

© by Ha-Co GmbH - Phone +43 7229 23844 « info@ha-co.at - www.ha-co.at





